Under the Sea

from Walt Disney’s THE LITTLE MERMAID

Allegro moderato

Lyrics by Howard Ashman

Music by Alan Menken

Arr. by Chris;ine H. Barden
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you | look - in” for?

guesswho gon’ be | on the plate.
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The sea - weed is al - ways green - er in some-bod - vy els - e's lake.
Down here all the fish is hap-py as off throughthe | wave they roll.
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Youdream a - bout | go - ing up there. But that is a big mis - take.
The fish on the |land ain't hap - py. They sad ’'cause they | in the bowl.
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Just look at the [world a - round you, right here on the o0 - cean floor.
But fish in the |bowl is luck - vy, they in__ for a wors - er fate.
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f Un - der the Sea, Un - der the Sea.
Un - der the Sea, Un - der the Sea. Py
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¢ Dar - lin, it's bet - ter down where it's wet-ter. Take it from |me.
g No - bod-y beat us, fry us and eat us in fric-as - |see.
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D Up on the |shore they work all day. Out in the | sun they slave a-way.
We what the land folks love to cook. Un - der the | Sea we off the hook.
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) While we de- vo - tin’ full time to float - in’ Un - der the
We got no trou -bles life is the bub-bles Un - der the
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[-2nd time both hands one octave lower than written -
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